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a
log, m” = p log, m log, b log,a— log,b | log,ab = log,a+ log,b

il dry e et S ded 330 log, 5 ~ 1.1610)s log, 2 = 0.5]{log, 3 ~ 0.7925) s

Use log 4+ 2 = 0.5, log 4 3~ 0.7925, and log 4 5 ~ 1.1610 to approximate the value of each expression.

2
log, 30 log, 20 log, 3
= log (2x3x 5) = I@j4 (4 x3) = tog 2 - 16343
:lujér2 +/'ﬁ‘r-3 + (O:)‘rb = \wDHH A (anS = 0.5 _ ©.3725
= &.5 4 0p.7925 4 [-l16le = 1 + 1.16lo = —©-2925
= 2.43%53% = 2.1blo
4
log, 3 log, 9 log, 8
( 3 log 2
= o ¥ _ Jog 3 = (o 2 = o 2
3L/ Lﬁ‘( SL,‘ Sq
= 1 - ©.3915 =2 \o 3 = 3 log %
5, 2
= 0.2073 = 2 (0.3925) = 3(0-5)
- 1,585 = /)5

(AU axg le i JS Zed 30 og; 9 = 11292 ¢ log, 8 = 111606 <bud S 13)
Given log s 8 = 1.1606 and log 7 9 ~1.1292, approximate the value of each expression.

logg 512 log,567 —= =*“ Ao
= leg 9’ = log (R+%R %9)
— 23 log R = loa ¢ ¥ \oq % X Yoo, 9
5 J, S, I

?
1.1606 4 11606 4 1.1292

(A
= 2 (1-1606)

= 3.4% (83 3. 4504
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MOUNTAIN CLIMBING As elevation
increases, the atmospheric air pressure
decreases. The formula for pressure based on
elevation is a = 15,500 (5 - log 10 P), where a is the
altitude in meters and P is the pressure in
pascals (1 psi ~ 6900 pascals). What is the air
pressure at the summit in pascals for each
mountain listed in the table at the right?

o2l bl paiiniy ogliiydl 5305 g Jlell Gl
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P g L3l glasydl Jiey a Eu> 2 =15,500 (5 - log 10 P)
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25
- S]]
Z o = [= O - 26853, 44 JE_L
- 2074
5 - o ]
Son i = P /oE B - 34963.34 JE_ L
E;“ 68T
gry = P= 10 Bees = 36028.4% L
- 6174
5~ oo ]
ds = P= /o[ e - 39%46.22 JeE_ L
= 5957
5~ =220 ]
oy = P_ /or 55 = 4(261.8% Je- L
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PERSEVERANCE Solve each equation. Check your solutions.

log; 56 —log; n =log3 7

56 /
lo 22 1y 3
ﬁ{ v Js

56 - 7
n
= 56 = 7n
;’I:ié_
7
n =129

5log, x =log, 32

S
S
X

= 32

5
L:H
xr = 7

logipa +1logp(a+21) =2
log [a(a«20] -2

lo

L
o [aa<«2¢3 - o
2% +2ta = l0O
A
a +2la —-tvo =o

(e - 4)(o + 25) =0
a_:L{ P = "‘ZS
X X
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